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QUESTION BOOKLET

(Read carefully the instructions given in the Question Booklet)

COURSE | M ¢, | SUBJECT: Geography

MAXIMUM MARKS : 50 : MAXIMUM TIME : ONE HOUR

(Including initial 10 minutes for filling O.M.R. Answer sheet)

INSTRUCTIONS TO THE CANDIDATES

1. The sealed questions booklet containing 50 questions enclosed with O.M.R. Answer Sheet is given to you.

2. Verify whether the given question booklet is of the same subject which you have opted for examination.

3. Open the question paper seal carefully and take out the enclosed O.M.R. Answer Sheet outside the question
booklet and fill up the general information in the O.M.R. Answer sheet. If you fail to fill up the details in the form
of alphabet and signs as instructed, you will be personally responsible for consequences arising during
scoring of your Answer Sheet.

4. During the examination:

a) Read each question carefully.

b) Determine the Most appropriate/correct answer from the four available choices given under each
question.

¢) Completely darken the relevant circle against the Question inthe O.M.R. Answer Sheet. For
example, in the question paper if “C” is correct answer for Question No.8, then darken against SI. No.8 of
O.M.R. Answer Sheet using Blue/Black Ball Point Pen as follows:

Question No. 8. @ @ © (Only example) (Use Ball Pen only)

5. Rough work should be done only on the blank space provided in the Question Booklet. Rough work should
not be done on the O.M.R. Answer Sheet.

6. If more than one circle is darkened for a given question, such answer is treated as wrong and no mark will
be given. See the example in the O.M.R. Sheet.

7. The candidate and the Room Supervisor should sign in the O.M.R. Sheet at the specified place.

8. Candidate should return the original O.M.R. Answer Sheet and the university copy to the Room Supervisor
after the examination.

9. Candidate can carry the question booklet and the candidate copy of the O.M.R. Sheet.

10. The calculator, pager and mobile phone are not allowed inside the examination hall.

11. If a candidate is found committing malpractice, such a candidate shall not be considered for admission
to the course and action against such candidate will be taken as per rules.

INSTRUCTIONS TOFILL UP THE O.M.R. SHEET

1. There is only one most appropriate/correct answer for each question.

2. For each question, only one circle must be darkened with BLUE or BLACK ball point pen only. Do not try to
alter it. I

3. Circle should be darkened completely so that the alphabet inside it is not visible.

4. Do not make any stray marks on O.M.R. Sheet.
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1)

2)

3)

4)

5)

U shapped valleys are formed by which agent of denudation
(A) Glacier (B) Wind
(C) . River (D) Sea waves

U 5900 3eded0odn oo INEeT0ns 3303 30300350N3.

(A) =38 (B) mov/=5e003

(C) =38 (D) x=0om wdnsh
Insulburgs are developed by which agent of denudation.

(A) Glacier (B). Wind
(CF=Rives (D) Sea waves
QOTASTWNE PROTER) 0B INETTER FZDI FOHOIONT
(A)  &=IO (B) =508

C) 0 (D) A0TE @dnsd
Stone lattice are the work of which agent of denudation

(A) Glacier (B) Wind

(C) Ruver (D) Sea waves
AR’ CoBA PROTR 05eE INFTRE FTZDHT 30
(A) &IIO (B) =503

C)" S0 (D) A=0gs @dns
Sink holes are found in which kind of geological region

(A) Sedimentary (B) Metamorphic
(C) Lime stone (D) Granite

o Yo (Sink holes) Ash 83 FINT 0oz dwo TBI TIe3TY
FOBOWTIZT. :

(A) I &3 (B) dwemo03d 53
(C) Roraysey _ (D) mIdps*
Dislocation of geological layers is called by which term

(A) Fold (B) Fault

(C) - Sik (D) Mount

SN Ty B FYNT CIm TEDOT FTONVREBT.

(A) =083 (B) %3 on

(C) %83 D) TI3
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6) Bending of geological layers is called by which term

7)

8)

9)

M -2168 3]

(A) Fold : (B) Fault
(C) Shear (D) Depression
SCRTHTND LRMIITORNT), 03705 B2 NHOT FTOPWOMIBE
(A) =as (B) z);)d gon
(C) awyrodd (Shear) (D) =y,

Which type of pressure exist in a place filled by high temperature air

(A) High pressure (B) Low pressure

(C) Medium pressure (D) Absolute pressure
OOT WTYOIR)Y, THEeBTY 0370F Ho03NFOTHOT TRBTVIT.
(A) BT mo03NLT (B) 3@ mocdwyed
(C) =GsH =oodnges (D) ¥ Hoodwyes

When the air is heated by the land surface in which direction air moves
(A) Horizontally (B) Vertically
(C) . Cyclonically (D) Stand still

R YFPOBHOTW ToORTWOBH 003D 0370 DIIAER BIRIT

(A) e@oon (B) «vgmo
(C) %% . D) 393

From which direction monsoon rainfall occurs
(A) North east and south east

(B)  South west and north west

(C)  South west and north east

(D)  South east and north west

SIORPT YN 0370 DII0T W,
(A) S320F Tone 8 Eeo®d

(B) 008, morwe w030,

(C) I8, mone 3T,

(D) wrieod more w030,

(P.T.0.)




10) From which pressure condition wind moves
(A) Low pressure to high pressure  (B) Equal to high pressure
(C) High to low pressure (D) None of the above
T0OTBNRTD 03793 2,86 THBDOT 09 1.8B TEEIT TE WERITT.
(A) 3BIBIOOT =T [N FHOOH TAEN
(B) ~ Ax0m0030500007 ST o030 HoSTEN
(C). «07dorm 3B WD HIABR
(D) eI Bem sAHNEY

11) The deepest part of the sea are called

(A)  Ocean floor (B) Continental slope
(C)  Continental shelf (D) Ocean trenches
ABNTE ©8¢ BYT TWeIF beriomd FT3NTV0

(A) AS0TH 8% _ (B) omo080 19mod
(C) Dowoo3s TPes (D) mono® LOFTN

12) What is the condition of sea temperature during summer season compared

to land
(A) Low (B) High
(C) Constant in all season (D) Very high

ATOTE 0T YoIP0O3R) Weant FenY BRFPINT ma@moai% BRCAATON
03508 BR0RTY FOBWST.

(A) s wwmpos (B) ©07 woxpo3
(<) IS YoIROS (D) ©=Qs wwEpo3

13) What 1s the shape of the earth

(A) Round (B) Circle

(C)  Spherical (D) None of the above
PRON 3F0) O3T0R)TONT.

(A) momAd (B) =250

(C) 303" (Spherical) (D) o ©Y

M -2168 [4]



18)

19)

20)

21)

Which agent of denudation deposits Alluvial soil
(A) Glacier (B) Wind
AC)-=River (D) Sea waves
BT oeey 0IeT  BNETTCR DT ATTHONT.
(A) =IO (B) mo9odd 5203F
(C) o | D) ABNT, SN
Which of the following regions is currently expenencmg the fastest
‘population growth? ;
(A) Northern Asia (B) Tropical Africa
(C) Eastern Europe (D) Northeast United States

8 I¢NT oosd JIeBNWD TAZ ©B0 INT &S0, BT Fowd
20T,

(A) w80 O,

(B) tmopve’ o7 (Tropical Africa)

(C) TezF cwedecs®

(D) B399, ©Be0T (Northeast United States)

Carrying capacity is a function of

(A) Technology.

(B)  Natural resources.

(C) Limiting factors.

(D) Allthe above

s90on® (Carrying) a0y 03705 FOTH0T YVOWOMIBT.
(A) ZBoZmys

(B) mppods FoBIROND

(C) S)Cpranps:‘) eﬂosrﬁﬂa

D) BoedIY) HVRP

Which of the following are not third-world regions?
(A) Latin America (B) Asia
(C) Aftica (D) Australia

8 3I9NS 3= NDoBR) TWoBT FBeoH FJOORNTY FOW WA,
(A) O ©BoedT (Latin America)

(B) =, (Asia)

(C) 50 (Africa)

(D) ejﬁ&je@cﬁa (Australia)

M -2168 [6]




14) The north Indian ocean currents of south India are
(A)  South west monsoon and north east monsoon
(B) North west and south west
(C) Equatorial warm currents
(D) Gulfstream

BT HOTR DTOANTT JWOBDNYD), TP 03T o3Tom ITOOT
) — < ) o~
FEODOWIT.
(A) I8 more B3z, TEoBMTH
(B) 330030, Tonw ST LON TFHOBNW
(C) DPoxd [BT GOF, TF[oBND
) Mi% ~
D) mg) Eéew TWOBNED

15) What is the status of the earth’s interior core

(A) Liquid (B) Solid
(C) Semiliquid (D) Semisolid
ZPROZTVTY oiioss 38 TOW WO,
(A) B3 (B) w=
- (€) oton (D) ©38 &I

16) Earth rotates on its axis from which direction
(A) 'East to west (B) North to south
(C) West to east (D) South to north
PR ARONFS A8 37TeIVoNY (axis) 0o O3J0T o3 DR
CleNavETe
(A) Jezrdow DS, (B) wwsoton @eas,
(C) TEIOOT T[RTJFE, D) w3edow ZTT,

17) What is the other name of Igneous rock

(A) Secondary A (B) Primary

(C) Tertiary (D) None of the above
ONBSN }JR,0TD TW oL,

(A) Q8cod d3nsh (B) =omans 338nsd

(C) 8ecd d3ne (Tertiary ) (D) oy v

M.2168 5 (P.T.0.)
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22)

23) The famous monograph “ Place , work and family” was written by
(B) Jean Brunhes

(€) .- ERatzel (D) Fredric Le Play
TAG, 38 Place , work and family 0232500 0350007

(B) Jean Brunhes

The poorest region of the world 1s
(A) The Middle East.

BFOBT ©é&c WHEST TWeS3 3TRTO?

(A) =G Tz, DOFND (The Middle East)
(B) Ax* Amoo &0 (Sub-Saharan Africa)
(C) O (Asia)

(D) s wedse (Latin America)

(A) Vidal dela Blache

(A) Vidal dela Blache

(B) Sub-Saharan Africa.
(C) Asia. (D) Latin America

(C) FRatzel (D) Fredric Le Play

24) The concept of optimum population is basically of the following character
(A) Economic (B) Social
(C) Agrarian (D) Biological
DROIT BIBOBO odeen, BOFUFWN FLNT ol ©FHHOT 3RRTTT.
(A) ©F3 (B) mo=m33
©) B O & AL

25) The natural increase in population means

(A)  Birth minus rate of migration

(B)  Fertility minus fecundity rate

(C) Birthrate minus death rate

(D)  Birth rate minus Infant mortality rate

&I B0BOD TETONT BEDBN Q0BT EN?

(A) =38 F0BY TOBH HBIB0, FLBWYT
(B) o Sod80hg fecundity BTTZ), 3EB0HHT
(C) =33 TTTY =T BORD), TEOIVFYW

D) =3I BT 8 TLRTT FLOINF)TD

M -2168 [7]
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26)

< 97

28)

One of the following formulated the dictum * The volume of migration is
nversely proportional to the distance travelled by the migrants”

(A) GK. Zipf (B) HR. Jones

(C) B.Benjamin (D) L.A.Kosinski

& FTINT D003 FoIod T@Tonwm) ASNT IWAT ©oITTII,
BTOOVATIBE DO T TIDATIO.

(A) - GK. Zipf (B) HR. Jones

(C) B.Benjamin (D) L.A.Kosinski

Which of the following country has reached the stage of demographic transition
where birth rate as well as death rate have both declined

(A) Iran (B) Maxico

(C) Philippines (D) Sweden

BT TODD), TLTONYTBL 83 FINT 3o UDE&;JSQ TRD Brdd.
(A) <093 (Iran) (B) (S333%) Maxico

(©) (295 ) Philippines (D) (ReBED) Sweden

Which of the following group of cities in India is arranged in descending order

of population

(A) Bangalore, Ahmedabad , Hyderabad , Pune

(B)  Bangalore, Hyderabad, Ahmedabad , Pune

(C) Ahmedabad , Bangalore, Pune , Hyderabad

(D) Hyderabad , Bangalore, Ahmedabad, Pune

TYNS INTNY wIFOLyE wRMdemoN FIBND TFBoHY BeedA.

(A) Bangalore, Ahmedabad , Hyderabad , Pune
(B) Bangalore, Hyderabad, Ahmedabad , Pune
(C) Ahmedabad , Bangalore, Pune , Hyderabad
(D) Hyderabad , Bangalore, Ahmedabad, Pune

29) India experienced negative growth of population in the year

(A) 1911 (B) 1921
© 1931 - (D) 1951
ADletcIald) :)domég &1350&% BITLBR oPon IRETY FORBWBT.
(A) 1911 (B) 1921
(C) 193] (D) 1951
M -2168 8]



30)

31)

32)

33)

M -2168 [9]

Which of the following state in India has the highest rural literacy rate in 20117

(A)  Mabharashtra (B) Manipur
(C) Goa (D) Gujarath

2011 T =JNé0d JFoO & FTINI 030D ooz, ©de ﬁzso TTOCED
mgciéojamq1 BRODT.

(A)  somooeg, : (B) =633

(C) rpeewo (D) mxzoes®

Vidarbha is the regional name of

(A) Guarath (B) Maharashtra

(C) MP D) AP

ToRedT[ON QPWE O3ToD cmuéi; TOPORAT.

(A) mozoes® (B) Smooex, (Maharashtra)
©) =5, IBes D) w0z, TFe3

Of the world’s population, what portion lives in developing countries?
(A) Approximately 35%. (B) Approximately 80%.

(C) Nearly 10 billion people. (D) Less than 1 billion people.

eﬂapwdc%ée@ mﬁgﬁ%ﬂg &IBO, BNET BIFOBONY AT, PINDOT TRRT.
(A) oomexd 3ezmo 35 TR,

(B) womew esme 80 O,

(C) 10 2OHT*

D) 1 D0 Nod TR

Which of the following characteristics are most likely found in developing
countries?

(A)  high population growth rates.

(B) large number of people living in poverty.

(C)  very traditional methods of agricultural productmn

(D) all of the above

@ma de® cma':ﬁ@J ;| FYND oo \Jﬁf’*ﬁv'io FOW &,doéd

(A) @@ﬁ mMosﬁ DR T

(B) ®©8e I zasda WBSITY ReDTTT
(C) mo@mo@a@’; T THENWD 0w 23T
(D) cOTPRELTp Fom wIIH

(PT.0.)



34) The state equilibrium between Population and Resource is

(A)  Overpopulation (B) Under Population
(C)  Optimum Population (D) Population Pressure
FOTIRLME 0 BIFBOSB,08 ,-Jaﬁa,uéri’ Gert TTa3TT.

(A) @@5 &IOS, (B) sa m3mo

(C) Bwen, wSHO, (D) =IBosBLoD a.,gaf

35) India is called a tropical country mainly on account of its
(A) Latitudinal extent
(B) Longitudinal extent
(C) Arealsize
(D) Tropical monsoon climate
HoUBHI, LTS Be3d HOW> FBOD &8 FENT woaﬁﬁds‘amﬁd
(A) ©T03
(B) dessoo3
(C) TBe3w mog
(D) eeny® (Tropical) BOJD® OCIWVNVER

36) In which part of India is Dandakaranya situated?

(A) Northern (B) Eastern
(C) Central (D) Western
80(3'@89@5 8 NS PN ad.

(A) wv3B (B) znesme
(C) Feom, D) =d=»

37) Panajiis situated in

(A) Dadraand Nagar Haveli (B) Goa
(C) Goa, Daman and Diu (D) Lakshadweep
Brezd 81 FENT O30T ToREIT.
(A) oot N0 BRED (B) Rweewo
(C) Recmo TIT® DB Hew® (D) og Qewm
M -2168 [10]



38)

39)

40)

41)

M -2168 [11]

India’s area is about times larger thén of Pakistan.
A 3 B) 4

(€l 6 @) 9

o0 MBRY TOFAVTEOT OIW), B[, BRFOT.

A 3 | B) 4

€ o D) 9

With which country does MacMahon Line form India’s boundary?
(A) Pakistan (B) Afghanistan

(C) China (D) Bangladesh

BRF BREDT Jed Pots Bwodnt oS mﬁgﬁa&a& DL BITT.
(A) osem* (B) ©3zmod7es

(C) 2Bemo : (D) oomp@e3

Which of the following major river of India does not form a delta?
(A) Cauvery (B) Godavari

(C) Kiishna (D) Narmada

PHOTBT FENT TJND IO JIRDR HRAONT), BRODTRAY.
(A) wohcd . (B) Reemomd

© &x D) [DFo

Which city is called the “Bolton of east™?

(A) Mumbai (B) Ahmedabad

(C) Coimbatore | (D) Madurai

8 3YNT 0350 INTHSY, Bolton of east 0w 33080E0T.

(A) S»oz; (Mumbai)

(B) oz=owmowon® (Ahmedabad)

(C) Brodzmn3eo® (Coimbatore)

D) =o5ud; (Madurai)

(PT.0.)



42) Which city is called the Manchester of south India?

43)

44)

(A)  Coimbatore (B) Sholapur
(C) Madurai (D) Chennai

WHEe HIUSE [WIVOWIDT DO 03N INTB, FTAINTT.
(A) 3eoxzBR0° (Coimbatore)

(B) Aw»ogzd (Sholapur)

(C) =g (Madurai)

(D) %3, (Chennai)

Common shapes of map projections are

(A) cone and planes

(B) cylinders and cones

(C) cylinder and planes

(D)  cylinder, cones and planes

ITY JFEINTY & FENT STOONTI), YOTAARENTTMOBE.
(A) 3oz = Fex® (cone and planes)

(B) ©odzoso0 @083 30T (cylinders and cones)

(C) ©oDg =02 Fea® (cylinder and planes)

(D) woheTOT, oz BB Fex® (cylinder, cones and planes)

A map projection that is made when contents of globe are moved onto a
cylinder of paper is called

(A)  Cylindrical projection (B) Conic projection

(C)  Azimuthal projection (D) Equal-Area projection

FORTITTT ToYOH e RPee'IY DOBNII), BRBRT TgewT,
& eriozd FB030TT

(A) »adomdser mPex (Cylindrical projection)

(B) 3dwedse® mgex (Conic projection)

(C)  Azimuthal projection

(D)  Equal-Area projection

M -2168 [12]




45)

46)

47)

Which of the following is not a type of map projection

(A) Conic (B) Azimuthal
(C)  Cylindrical (D) Geographic
& FINT oI IFY e

(A) Conic (B) Azimuthal
(C) Cylindrical (D) Geographic

What does the abbreviation GPS stand for?
(A)  Geographical Point Software

(B)  Global Point Selection

(C)  Geographical Position System

(D)  Global Positioning System

GPS & OHZ0=

(A) Geographical Point Software

(B) Global Point Selection

(C) Geographical Position System

(D)  Global Positioning System

The mercator projection is an example of a cylindrical projection.
(A) True

~(B) False

48)

M -2168 [13]

TFLe* (mercator) BFem 2S30@OFS* (cylindrical) BFeBT, 2,000
OB OB
(A) =0
B) 2=

Reality can be represented in GIS as a series of layers or as objects.
(A) True

(B) False

PR HoINIDR), GIS I ATNYY (layers) B3RO WRITONT.
(A) =0

(B) ]

(P.T.0.)



49) Which of the following is not an example of spatial data?
(A) Polygons showing the area occupied by a particular land use or variable.
(B) Lines showing the route of linear objects '
(C)  Times of particular events
(D) Points showing location of discrete objects.
& YN ol spatial data ¥VEOBTH VL.
(A) Fr FT0DT, Be0WD TONIR’
(B) Jesoogs SBNe), 30X TeBNnwd
(C) JINQS FBI IBT AI|OD
(D) SN TYSNII, BPCOAD WOTIN.

50) Measurement by distance of chain is called as

(A) Chaining
(B) Ranging
(C) Leveling

(D) None of the above :
ITTENY THOPOOT LOITI), @@cﬁmagcjéﬁ NFoTH FTO30SHT.
(A) Bpon* (Chaining)

(B) Jeozzor® (Ranging)

(C) &ex3don* (Leveling)

D) oo ©9 (None of the above)

M -2168 [14]
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10.

11.

VERENOR TRUEIN
£.20.50°. ©UBT Yo ERBR 50 JINER, BRODMLS BeTD IPRT ITF,
THTIWP, TN VEBSONT.
éfaééd)d @’;3& AT, V) ﬁaegﬁ ejoi% BRRILOET cﬁ&"’ﬁCﬁD% ﬁouo@?\:d&e
QOWTW, F0SeDA0.
TF, BEFCDH BeTTW, PNZOR0T STWO Y BIFTEFWOT £.20.8T°. YVET
aa@od):nd TRTT N, L.00.50°. YWBT TFoDNY maﬁsadé BID&ECHT, 300W0.
BRLIDT FRWIONOF A STWRTONYS DWINYEY, DO JFPOTHWS, Ve,
YUEC TOYOD BPOFPBI FDODTY  YoLRMHE [OHORALH  F;0DheT0N
Nesse oL TTINTELD. '
OO FCDTY:
a) TIcIeomd TJ oD, WeScRoT LHT.
b) TE TFOD I DeRLH Doey, o, BoRiYY ©wZod FOCIRT/ AeTT
m:?’pdﬁaia& ApEDA. .
C) L0050, DYohOT FOWORAT B & FoToTRI, BOTRLaF 0N BOD.
SVTIBTEBN, @ﬂ% TEFODY @jé& R0, 8% “C” Ro03RT wETmNTT, /I
LR TR0 T WHFA L.D0.T. YO0 TYoD T F0S, 8T =0T 3
TEPNNOS OWD:
o3, %0, 8.0 @ @ © (TR IPB) (e TOWOE Fo® SR evFodeeNL)
30T BRTFATZIOD mtﬁdt’éﬁodaabgl (83 3oR) TF, BEFoDY wBNIT D
ZNAY WeSHe [RBID (8.00.87°. YVBT TOYODY BITWLIVT).
2,000 JOFR TIR 2.00808 523% B, ZTOTI, HNEFCONTT, LOBH LWSTBI,
:a’adi DO TONEIRRMMST B O3RJ)53e @osam_,\ QEBORNOB)OY. &0.20.80°.
ZOYONIS YTTTE BeeB.
VPHF B 3RTR HeRPTTL ADF[TIRAT ﬁ@@éd@ 2.00.680°. ToBoD Dees
T [RBUCD.
VPHFCID OO T0IT TeBR FeJpVTTON WY L.R0.8T. YET oY
DB é’b%@m@ooﬁad TIODHIW, LodBNALICR.
PR T, HHFTD, DB L0067, WHHFDH Do, IM) ed Srichinom
TLRCNRLTOTR. -
TEIT, Tewo' B draz:?dcf FRETFNEI, TJOewy FTHTIROD &M
BREETRMHDY.
wa%@rom d:&;%zsg SRBNCR T FoWOTRT, wosm wa,%@roiamd gRCE R
TONSTRMHZHRY Ty ACHIHNE TFT QOTT WLIRECD adaz% D FRedonlmd.
8. 20,507, TIECHTY, POWLL XAWRNAH
GoElewlelay @’gﬁ 2003¢ 2,0TH VB0Z ARTDE/AORCRT YBTILET.
TS JIN 2.0 FIHW, BT 2D VP T R TOWoL' TITQYCT DR,
BOWTTLR, YITBR, [RTERAL BohS TR,
FIBRINHH ©30 REOWHOZ FBRI, FOTRFTON BOLITYTD.
£.20.50°. TYORY cIpPTe YToRTT MDY, @R,

Note : English version of the nted on the front cever of this booklet.




